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foo oo ,
1 J Fy(w)dw J |H () |°dw
0 0

= = , (3.3.11)
Zn Fy (O 2n| H(0) |*

HY A AT DL e e S0 R L Pl 2 PR R SRR PR R W . AR A0 IR R S G BB L T LS i
B 1P 2 Dl AR e 3R 2 F AT R 4 R 2 D R

—+oo b
Ry (0) :;?Jo Fy(w)dw :iAweFYmO) =N,Af |H(wy)|* (3.3.12)
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Af.

Ry () =N,Af |H|* (3.3.13)
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aN
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Af, BARAN .z, 4Ejt Hﬂélﬂ U AR AT 433 ok fin o M s AR AL 28
B 3. 14 450 T M58 5 RC F % MATLAB 9 Simulink {7 B, & 3. 14(a)
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H(z)= >, h(mz " (3.4.2)

n= —

BEBLIT 51 X Go) i i 20k R G0 i Y(n)jv
Y(n) = Z (k)X (n — k) = 2 hn —IX () =hG) * X () (3.4.3)
k= —oo k= —co

i A A

‘:x')
my(n) =E[Y()]= D) h(k)my(n—k)

= —ox

my(n) =hn) *myxn) (3.4.4)

B 5 B A A G R ECR

—+co
Ryy(n,.ny) =E[X(n DY (n,)] :E{X(nl) DT ()X (n, —k)}
b= —oo

+

oo

= D> hWOE[X )X, — k)]
p= —co
Jr:x)
= D) h(BORy(nysny —k)
b= —<
I
Ryy,sny,) =h(n,) ¥Ry (nysn,) (3.4.5)
i 4 Y AH G PR 2R
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oo
E{ DV h()X (n, k)Y(nZ)}

b= —co

+oco
= D) h(W)Ryy(n, —k.ny)

b= —oo
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K3, 4. ) A BT e

Rynysny,) =h(ny) *h(ny) * Ry (nysny) (3.4.6)
IR A X G R~ FRLBEHLF 51, 0]

my =m Z h(k)=mH(0) (3.4.7)

b= —oo

Hot HOORARGAASLEE H ()7 0=0 BIH.

Ryy(m)=h(—m) * Ry (m) (3.4.8)
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Gyy(2)=H(z "Gy (2) (3.4.12)
Gy(2) =H ()G yy () =H(z)H(z Gy () (3.4.13)

B13.10 HHUWFNESFREBRABEREERS .
Xn)=aXn—1)+W) (3.4.14)

RGWE 3. 16 Fia. b WG B FERAMRS, £ R o R (. 4 14 Wi — B
AR(autoregressive) B, i AR B8y 7= A (U BEAL T FE R AR a3 2, 3R — By AR 2
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hn) =ahn—1)+6n) =a’hn—2)4+adn—1) +8n)
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2 m

Ry (m) =¢" Zam*ﬁ o
k=0 1—a’
A m<<OWIEM . A

2 |m|
o a
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Gy(w)=|H(w) | Gy (w) = A g (3.4.18)
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HG A TDTT LB N 20 1.
Xm)=a, Xn—1D +a, Xn—2)+ayXn—N)+W) (3.4.19
PN N By AR B XFR ) X GOFRA N By AR 372, N B AR i #2893 R4 K

2
o

Gy(w)=|Hw) |Gy (w) = N (3.4.20)
‘1*261&67@& ?
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B 3.11 WA AE 250 7 R IR R B RN R S
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& () W Ay g 7, B

hn) =b,0(n) +b6,06(n—1) (3.4.22)
AT UL ZR G Y BRI 1 A PR A BE Y R G A% 13 pR ECH
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i 9 4 (B
E[XG)]1=b,E[WG)]+b6,E[Wn—1)]=0
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—Br MA 2 A DR
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(3. 4. 2D AT DI B M By MA 32 .
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oo
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I 1545 285 DU RC IR A% LSt BE T 228 X 1 A MR I R ST A AR I
FAR A5 Z B8 BURIE I A A I F br . DR P AR A S LA 3. 21 o,
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s () 1Y VT PC U8 e 2%
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AL DC T 32 5 i T s ol
H(w)=H,(w)H,(w) (3.5.25)
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